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QUESTION 1

What function does the TS7700 Sync Mode Copy enable or perform?

A. It copies the synchronized volumes between the clusters

B. It synchronizes the copies of the TS7700 databases between clusters

C. After writing the entire volume the TS7700 uses Sync Mode Copy to synchronize the data between all clusters

D. When the host application issues an explicit synchronize operation all previously written records are replicated to
another cluster

Correct Answer: D

QUESTION 2

A customer is in the process of installing a two node TS7740 grid with a single production site. The second site used for
DR is 50 km away. They want to set all logical volumes to have a size of 6 GB. What is a possible effect on the
customer\\'s tape workload?

A. It may increase the recall time for logical volumes

B. It may increase the amount of data stored on stacked volumes

C. It may increase the mount time for fast ready scratch volumes

D. It may increase the amount of data stored in the tape volume cache

Correct Answer: A

QUESTION 3

A customer wants to double the capacity and throughput capability of the existing TS3510 Tape Library. The available
free space in the data center is limited so 324 frames must be included in the proposal. Which fact must the technical
specialist take into account in order to meet the customer requirements?

A. 324 frames do not provide the option for adding tape drives

B. 324 frames cannot be placed at either end of the tape library

C. 324 frames provide 2.5 times more cartridge slots compared to D frames

D. 324 frames offer reduced “amounts per hour\\' when using cartridges in tiers 0 and 1

Correct Answer: A
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QUESTION 4

A customer has a TS3500 Tape Library with TS1140 Tape Drives, but does not have the High Availability\\' feature. If

the accessory fails, which activity must be performed to resume operations?
A. Contact IBM support

B. Re-initialize the Library Manager

C. Cycle between Pause and Auto mode

D. Perform a re-inventory of the cartridges in the library

Correct Answer: A

QUESTION 5

What is limited by Performance Increments in the TS77007?
A. Host Read only

B. Host Write only

C. Host Read and Write

D. Host Read, Write and Grid Replication

Correct Answer: B
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